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10.  J& it aret yf3fafon : 3
MnO, + 4HC! — MnCl, + 2H,0 + Cl,
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yge Qua gaTET I I
(a) TASST IS AT At d, SR YT I T o 89 |
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Ey
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g5 <% Yf3faeg & nfadt, v i3 yfigdt usT a9 |

J& fe3 92 Adae 3 fegg a4 :
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Bgrel § € I 99 fe3T A€ 3T AJde feg 9% It ade fa< gt | nmyE €39 <t undt
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9362335 (fAGedfimH) famd afde 96 2 IHS feg S I U = ga 137 fea fusg
g8 m3 fer feu Ua3HA JIg3e=a36 ¥i3 f[ITSHT JIg3e=d36 San'G |

(a)
(b)
(©)
(d)
(2)
(b)
(a)

(b)

(©)

(a)

(b)

(a)

(b)

(a)

(b)

HiAe {29 I8dW © e fadse € AH I 3t yf3fafon &t miiaas 189 |
Hesgh T Ut feg g 8 &t fafon & fedt a9 84 |
Sefan € feg I9J S99 s=3d T o H & | fere € T & gt el |
HeYT feg 7rg 8 <t fafon™ € =9es = a1 w3 fem &t fea gfiar 184 |

Cu
I Ufenf™ a9 fige T8 Une Yfafon T ya9 =7 &1 g w3 §r <t fenrfimr a3 |
fer yfdfon™ 2 et 7gdt a&T AHadT fed | i3 yfafon o garfefed mitage f8y |
fer yfafan feg I T8 fds wesret 7 2965 39 |

IHAT-439 et off Jhr I3 2 433 e’ <t 293 J9x Iudt U39 feg fan fig 3
It uzg <t femr faR usr St At J 2

< FAIIG IFFMAT X’ w3 Y’ fed gHI T IS Ffeit et I% | 79 dFET X
feadt famddt €t ade feu eg= i3 A%, 37 of 438t Y’ feg det age Yfas
J<aft 2 395 ey |

“SBIHIT =" HAT 98 T f8y |

AT -gIefanet (Yn g7fe Q™) it T 2 fere age 2@ 90 &Y | fer g fae Sta oz
THIEJ ?

Ao fadse A HId &8 3 fa€ yF3 Jer I 7 feq #1337 (labelled) 933 &
AITE3T &7 fanmfamT 93 |

AIet € Qu feg Ba' 35 grrfefeq grer <t gt 96 fig < »igmg 3 U3’ w13 w3t
feg e 3T AT Ha=T J |
BJ s 3 gue © BEl qEl < QU Iy |

fefgsa &t T 2 fan =f fev fefgas fa= gt I fan ars (MHA) feg Uer It
fefgssT Grdh et (839H1=3T) feg fag Aofex It T 7

T 33 13 &l Yaes 996 @8 et feg 7ea (Parent) w3 HIs feg I
39’ ot foredt fea 7t fa= gt afd=t 7 2
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WS G337 I U g% I2 nrrufsd wieddt Arat feg far Wems (vea3) feu ufel

He 7€ 33372 I fa3 gt S yfeadt &t formfim 39

(a)
(b)
(c)
(d)
(e)

(a)
(b)
(c)

Huda3T (28H) feg ufgedss
YIHTE MIY fenH g ufg=a3s

gr3faq W3 mMur3fad Bas

g -faesHa3™-88s
IHTEST o gt
Y
H3dle T 337 < Tgdflags er mmarg oft /Y 7
Hadie & »regdt Arget S S Yy S a9l |
o' far € fadtust &t gt 576 fig’ & Hadle © nieadt foun § g3t fiast |
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SECTION - B

Wire feg yaes 2ane ¥ el Al gH feg f3a 5@ |

d9 &t »rfesrag A8Y fed Jmds T8 Y fdds = Ug Giae € yuar Ja< AH fed
fefenradt & MU fadhie’ § Aot gu g fafimrm | 7g9 BHE U yuar € AH < uaat
(TAST) T BET Li T & HE 40° 013 50° B I3, 37297 YddS 29 Le M3 Lr S A HS

HFIesgTALIS ?

15 7t S3H © €38 8o It 8o 3 25 At gt 3 uE fan iy = yfsfdy sear
S9Ae < BE! fa9s 939 978 | A9 iy = Ael 4 #:fl: 9, 37 yf3fde = et uzr
a9 |

fan Ags =t yuomrsT feg fefonradt a9 yuar ordt »ififeg wifks © I gon = wiftmis

Co

3 I 75 | §9 fert mifafsa yfgdt v fadhue fa< o9 Aae 96 2 € ore f8Y |
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fan 7gg & YU feg e € 3H& & 969 78 »13 HUT (HAee) 78 <9 I8E3HA
HeE! War3T € wifis € et 387 78 T 56T SUBEe 51 J | 78 § 383 967 © B 554
Tyt feg yuamsT 3 faua s Wign A7 HaeT J 2 yudr feg Aree &t Aeet oz <
3B fae ATt A T ?

3T B IS fet mardt I ¢

e (0-1A), *BaHIeT (0-3V), 20 Q =7 yf33ud, dHt, TaT fauzd, 3V <t gedt i3
H3 Haaa 3797 | fer AHardt & 233 99d far yf33ud feg Y=o J<t faasgt e age (1) Sug
W yf3dua € fHfont 2 Safims yens #1339 (V) & fageasT @ wftis 396 © Bet wid3
HIa< Bt |

A fafan @ AH 996 STEaATes < fad™ & »ftis 396 © yuar <t Yufara feemar
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) 3G JoT-Y7 F1 & 97T, HFT-37 37K 7T, 7 Fie7 737 8 | 37961 @1 977 3§ 3 I
forg 8 1

(i) T go7 AR E |

(iii) 3TTT%H] GIT-37 3R 97T~ & G¥1 3971 & IR §9H-J4F 77T & IR T 7@ 6 |

(iv) T8 FFT-37 & i7 379 3 i 351, 9id 37 3 &1 91 3N 97T § 7 §) 37% & U Jo7 4
S7TARE TI7 [T =T 8 [

(v) -3 3 J97 G&IT 1 3K 2 TH-T 37 & J97 & | 379 It U IIeg 379l U 19T 7
e 1

(vi) HTT-37 3 97 G&IT3 G5 G1-G) 3% & J97 8 | 599 I TTHT30 5] 4 67 & /

(vii) TT-37 3 Y97 G&IT6 G 15 AT 375 3 J97 8 | 598 It TTHT50 5] 4 67 & /

(viii) STT-37 3 Y97 G&AT16 T 21 G-I 371 & F97 & | 5799 JTR ATHT 70 Vg 5 a7 8 |

(ix) HFT-& & 97 G&I722 & 27 1A HIFIcT T TERT @-al 371 & J97 & | 5799 I
GRrTHEE |

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief-
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Section — A

TEMNE (J9 19) & < 936l o 9M feaflgu |

Name two constituents of biogas.

HUSA A A HE o 1Y I S 7T o WY f7g 37N 370 Hoh0T g F, |t 3eaw o |
3% 39 Hafd F, H = et foma ¢

Mendel took tall pea plants and short pea plants and produced F, progeny through

cross-fertilisation. What did Mendel observe in the F, progeny ?

nfeass & fafi= v faftre st 9 gag 8 | 79 afcass & 39 v =61 9m fafge s
fefafga s s g

(a)

(b)

(©)

(d)

e I T B I HAGHT
U (I 3T

fereft Uit =1 33T
HT3fhel TAMT

Different parts of brain are associated with specific functions. Name the part of

human brain which perform the following functions :

(a)
(b)
(c)
(d)

Sensation of feeling full
Vomiting
Picking up a pencil

Riding a bicycle

C1



3172

s o 20 cm ey Gli o foRHT 3Tardel qUUT A 40 cm g0 W @ 2 | wiftifors 1
feufy s wepfa sma Ff | 58 weor 8§ wfafers saT quni o fore feror ama Eif |

An object is kept 40 cm in front of a concave mirror of focal length 20 cm. Find the
position and nature of the image. Draw a ray diagram to show the formation of image
in this case.

e o TASThHAT DY H TR Soiag ald & | hIeH fh8 TR & ATk SHT Tehal & 3T
FAT 7 T AfTeRT 1 T IgTEn ferfan |

Carbon has four electrons in its valence shell. Which type of compounds can be
formed by carbon atom and why ? Give any one example of such compounds.

IuTiold e fopg shed 8 7 3 e g el difedl § dwna w6 a8 w v
ST ST |

What are acquired traits ? Why are these traits generally not inherited over
generations ? Explain.

foqer & ade o frefafea gfemi o1 s w0 #1 o @ ufesfea hifve @i
frga Mol s P fw6.002 |

(i) 1000 W =1 fergd get wftife 5 &

(i) 400 W b forega Thieiex fafea 10 =2

Calculate the total cost of running the following electrical devices in the month of
September, if the rate of 1 unit of electricity is ¥ 6.00.
(1)  Electric heater of 1000 W for 5 hours daily.

(i)  Electric refrigerator of 400 W for 10 hours daily.

“STehfcieh THTEA] o1 TUITNG J-eF" F1 8 ? I8 F1 STa9eh & 7 <R 3T 35
T 319 fopa SToHTan 3T I 7

What is “Sustainable Management of Natural Resources” ? Why is it necessary ?
Which one out of reuse and recycle, would you practise in your daily life and why ?

4
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HET T AR YATROT o JTEAT bl UTd TR {ferent Walean 5 SemgHt $eMi, wnfeesh,
HITS AT & TAW o BB IHTET W & a1 | BE1 3 I8 = o6 efep S o
AT T GicA 1l ohT 9 JHTY O ST BT & T8 9=kt =T 3T o STdTeil shl
=3 S 91 bl & | 384 I8 vy foman fop gm weft et ame feemerm =6t
“ TATIEEh ST AT~ e SHTET TUT Teh— G ol $7eh A ¥ STANT % 78 TTa i
HT |

(a) efeh Sfam A utefiefie 3T weiTfeess o1 U= 5 =i foham ST =t 2

(b) B A 39 ferer™ # 39eh IUAI & S=TE hH TehR R grm 7

(c) 3T Fre=rr shl Fetdl o foTe ®TE 5 weh-gat i fohe Yepr UTta fepar & 7

While teaching the chapter “Our Environment” the teacher stressed upon the harmful
effects of burning of fossil fuels, plastic, paper etc. The students noticed the extensive
use of plastic and polythene in daily life, which can be avoided and the surroundings
can be kept clean. They decided to make their school “plastic and polythene” free and
motivated each other for its minimum use.

(a) Why should the use of polythene and plastic be reduced in daily life ?

(b) In what ways the students would have avoided the use of plastic and polythene
in their school ?

(c) How the students would have motivated each other for the success of their
decision ?

FRIPICIRIEDIE
MnO, +4HCl — MnCl, +2H,0 +Cl,
(a) U 38 Afires o1 T forfaw fgedt (i) 3w=rmA, (ii) STT=H 83T § |
(b) o YT T ITTIA IR 3T <ht i farRge |
In the reaction :
MnO, +4HCl — MnCl, + 2H,0 + Cl,

(a) Name the compound (i) oxidised, (ii) reduced.

(b) Define oxidation and reduction on its basis.

FIT B & T Froher <t Iufeurfa § fopeft svwafa da1  gegion 1 et ST 7 7 39
Frtufsran w1 T foRaw aen seafa 91 iR SIfufshen grT da & W 3earg < Wifae
ToTeHT 4 U ST faiRau | 3| sttt o frsher Y ftremt 1 Seora hif |

What happens when hydrogen is added to a vegetable oil in the presence of nickel ?
Name the reaction and write one difference between the physical property of the

vegetable oil and the product obtained in this reaction. Write the role of nickel in this
reaction.
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el s 3R 5% TaAelt # 1g 319 Tifeam Feiigs ARt 380 2 mL Fig Torfeh
31t forerren w2 | wfe Scafia e w1 aditerr vget 5 it fotend w3 fet 3, et
fotera = gra foman e 2, A e 9 Top weRtor © vy o= o U1 H qitedq B 7 31
IR o ferw s difse | 3cafia T & foawa & i frsed freprett S wehar 8 7 3109 S
1 gfE & fore TrEmate Tfiem i |

YAl

(a) hh ST H SfShTT ITSST ST SUANT TohaT ST & | Afe STT9eht ATaTsi 8% W heh s
T SRt T3S & T W ATkt HIST 3TN Hid! &, 1 I8 heh o TG i fhd ThR
TR ST 3 T ?

(b)  sfeh dreT b1 Afeh uet # fohm YR witafdd ferem Srar @ 7
(c) hh I JATRH TR TI=A HIH ST § ?

1 g of solid sodium chloride is taken in a clean and dry test tube and 2 mL of conc.
sulphuric acid is added to it. If the gas evolved is tested first with dry and then with
wet blue litmus paper, in which case will the litmus paper change colour ? Give
reason for your answer. What inference can be drawn about the nature of the evolved

gas ? Support your answer with chemical equation for the reaction.
OR

(a) For the preparation of cakes, baking powder is used. If at home your mother
uses baking soda instead of baking powder, how will it affect the taste of the

cake and why ?
(b) How is baking soda be converted into baking powder ?

(c) What makes the cake soft and spongy ?
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& forelt TiHel 31 SaTelT <1 THH H1SST <6l el Tfcfersl Sorell | 4 m gt o o fopeft
¢ T ST e & |
(a) 58 i@ 1 3= foman 91 2 34 YR o1 7 foifan |
(b) 38 W I HishE gl w1 B AMMEY IR W HiHell shl SaTen § feba gt o @
ST =Ry ?
(c) 38 WehUUT H Widferwal ST &I o foTq ATmifeRa feptor i@ Wi | 3
&IOE]

SijﬁﬂﬁﬁﬁWIS cmW@%WWW%W%cm@WW% |
T oo iciferay shi fert, |Test 3R Sepfd 1 i |

We wish to obtain an equal sized inverted image of a candle flame on a screen kept at
distance of 4 m from the candle flame.

(a) Name the type of lens that should be used.

(b)  What should be the focal length of the lens and at what distance from the candle
flame the lens be placed.

(c) Draw a labelled diagram to show the image formation in this case.
OR

A 5 cm tall object is placed at a distance of 30 cm from a convex mirror of focal
length 15 cm. Find the position, size and nature of the image formed.

i iaQ T IH9Y T foram <hIfSTT -
(V)
=20=
50 80 120
TIN
——AA——AAMAN
(&) AAA

6V
HHHH—O)
e Prail oG 8, a9 WHIe 3TN dieetiet o I 913aTeh BT 7 3704 I <l SRYT |fea gfY

HT | 3

AU
Iga fatierehdt fhR sad & ? gHHT SI U Yea— shifore | fopeft sioft ferega uftay H,
frem &g o dR &1 H1g Tfatiges Je1 7, THICK 1 ueish 100 mA & | Afe IR i oramg
1 1 7T KL fea e, o uftaer § yenfea o fore yehr wftafda gl 7 s s i gy
HIT |
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Consider the following circuit :

()
(V)=
50 80 120
)=
—AAAM——AAMAN
(A) AAAAA-

6V
HHHH—O)
What would be the readings of the ammeter and the voltmeter when key is closed ?
Give reason to justify your answers.
OR

What is electrical resistivity ? Derive its SI unit. In a series electrical circuit
comprising a resistor made up of a metallic wire, the ammeter reads 100 mA. If the
length of the wire is doubled, how will the current in the circuit change ? Justify your
answer.

TecaH {8l HEd & 7 THS! § & 91eY 1 ATHIfhd 3TN Wit G-I Tecdad
3TN HUITcH TeedTad SISy |

What is geotropism ? Draw a labelled diagram of a potted plant showing positive
geotropism and negative geotropism.

(a) fi T oIS o ST forgve o wue g arett stk b afietr fafaw |
(b) TSI o I § yaE =ht gfskar fefau |
(c) TUHH H U TeaTR SHEft TT=T ot A8 foifau | 56k g1 Tt ht gt sA18T |
(d) HHElH Y9G Ui T AT TR FHeh! Th firent faafau |
AT
(a) B UTedl H Y 9 ST e S SR % TehR o1 A ferfaw 31 IHeht s
HifT | 37 gfskan & fotu stravas w=ht amft fafge qen ufsen 1 tamfes
grfiertr €T |
(b) 38 WFRATH g TTeH dIH HAI T Ieoi@ i |

(a) Write the reaction that occurs when glucose breaks down anaerobically in
yeast.
(b)  Write the mechanism by which fishes breath in water.
(c) Name the balloon likes structures present in lungs. List its two functions.
(d) Name the respiratory pigment and write its role in human beings.
OR
(a) Name the process and explain the type of nutrition found in green plants. List

the raw materials required for this process. Give chemical equation for the
mentioned process.

(b)  Write three events that occur during this process.
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18.

19.
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(a)

(b)

(©)
(a)

(b)

(c)

(a)
(b)

(a)
(b)

(a)

(b)
(a)

(b)

FrEEhTT &1 1@TC o1 B & 7 &1 L@I3T I IHAN hich Jraehid & 1 fopeft forg
o ekl 8 o femm fer ek ST Y ST B 2

Tl TR FUSTHT X 3R Y’ Th-G8 o Tehe W 7 | Af¢ P! X 1 forega
T § ufterd foharm S, at o pueelt <Y H ig e gfa gnft 7 s e |
e o1 gler g e ffa |

What are magnetic field lines ? How is the direction of magnetic field at a point

in a magnetic field determined using field lines ?

Two circular coils ‘X’ and ‘Y’ are placed close to each other. If the current in
the coil ‘X’ is changed, will some current be induced in the coil ‘Y’ ? Give

reason.

State ‘Fleming’s right hand rule”.

S~ 3 AT 8 7 $HHT HRYT [INIT, | FHHT TR Tohd TR FohaT ST & 2
TATCT < THT T AW FI YA a1 & 7 Ak 3TR@ hi TERIAT 8 AR
it |

What is presbyopia ? State its cause. How is it corrected ?

Why does the Sun appear reddish early in the morning ? Explain with the help
of a labelled diagram.

ATfeteht o &9 H 37 fH THEH I hl G ST Tk SR W aTgat 3R
T3 o o 3T fepa AT 2 |

1R I ST & S o ql 3T [ha |

List in tabular form any three chemical properties on the basis of which metals

and non-metals are differentiated.

State two ways to prevent the rusting of iron.

C1



20.

21.
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(a)

(b)

(a)

(b)

ferfirran @ R » fenelt gwfy o fafirrar for yepr Scum Bt 8 7 foreht wiiefist @
ST Tafirar 3ereh! Seriiferan § forar wehR wgme Bl & 7

ST SHIfTT Foh TifTeh S ot aTet Sftall § Seh T Fdfd § UrgE shl T 99
e JehR s et B 2

What is variation ? How is variation created in a population ? How does the
creation of variation in a species promote survival ?
Explain how, offspring and parents of organisms reproducing sexually have the

same number of chromosomes.

310 I T Y HEd g MY 3tad areft 7 foreft amred § 91d ¥ ¥ 9 W a6

et few Tu urermt i vt <l sETEn At -
(a) TSI & oo (afEd)
(b) o~ o aftEda
(c) oTfeash & J14Tfcareh TAeqoT
(d) ToreIa oTTcHshdaT-eTu
(e) TSI <hl Wehid
3Ty
(a) TUSTHI® o el o aTTehTUT ShT ST AT AT ?
(b) TV i e Gt i g ITATeRI <ht T SRy |
(c) 3 el <1 Jequmi <ht T=ht sTST Roeaiv AuSefiss o S1rard fem w1 gt < |

Explain giving justification the trends in the following properties of elements, on
moving from left to right in a period, in the Modern periodic Table.

(a)
(b)
(c)
(d)
(e)

(a)
(b)
(©)

Variation of valency.
Change of atomic radius.
Metallic to non-metallic character.
Electronegative character.
Nature of oxides.
OR
What was the basis of Mandel&ev’s classification of elements ?
List two achievements of Mandel€ev’s periodic tables.

List any two observations which posed a challenge to Mandel€ev’s periodic
law.
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23.

24.

25.
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-«

Section — B

e T S @3 o fore 3t shm 3 3w difs |

Draw diagrams showing reproduction in yeast in proper sequence.

Wi h! FIATHR Feel! & TR areft Tehrer fohtor 1 7o STRREd o & J=m o fopeft
B A 3194 YT bl dTfeTehTalg fohaT | Ife I 379 =T § 1 UTSaieh o foTT /i o Qf A
40° 37T 50° T &, 1 Tk Tl § Le N /r % F&l 7 1 g =18 ?

Al
15 cmW@%WﬁHWﬁH@ZS cm@ﬂ@lﬁﬁﬁﬁﬁwgﬁﬁﬁw
T o foru amifena fertor s difa | afe foara 61 wmes 4 om 2, @ wicfers 1 aes
fauffa i |

While tracing the path of a ray of light passing through a reactangular glass slab a
student tabulated his observations. If in his experiment for two readings he takes two
values of /i as 40 ° and 50°, what should be the correct values of Ze and Zr in each
case ?
OR

Draw a labelled ray diagram for the formation of image by a convex lens of focal
length 15 cm when the object is placed at a distance of 25 cm from the lens.
Determine the size of the image formed, if size of the object is 4 cm.

Tereht feremmera <6t SRITTRITCAT © BT % TN gRT TSHISh 3T < UIHHT ol ST hL 1§
8 | o SRl AT el 1 TiequT fohd Sk SRt Tehdl & ¢ & wigT fafan |

In a school laboratory the students are studying the properties of ethanoic acid
through certain experiments. How can they test its acidic nature ? Give two tests.

foreft feremerar <6t SrRIFTRITENT & <1 o T Sl AR TUT UG o1 H oiIcHeh Th1s S
T LI T o 1T AR A T AT ITAH &l & | TeT ol R sM o o7 it h
STt H ST | i 91 SGU1 STl ST Tehal & 7 SN | |IgA hl T%1g &l shi gor
0 IS R 7

In the laboratory of a school, the sample of hard water is not available “to study the
comparative cleaning capacity of a sample of soap in soft and hard water”. Which salt
from the laboratory can be added to tap water to make it hard ? In the experiment
how is cleaning capacity of soap compared ?
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27.
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3T T8 e € et At R -

I (0-1A), FeeHE (0-3V), 20 Q T Sfcig, Fril, arT ==, 3V 6 delt qen
7 G AR | 39 AT 1 IUANT ik fohell feiiges & yafed fogga 9 (1) | 39
gferierss o ol & i fawar=w (V) &t ffar &1 sterm w@ & fog amifea afoy
3G Wi |

You have following material :

An ammeter (0-1A), a voltmeter (0-3V), a resistor of 20 €, a key, a rheostat, a battery

of 3 V and seven connecting wires.

Using this material draw a labelled circuit diagram to study the dependence of

potential difference (V) across a resistor on the current (I) passing through it.

I i 31T H HTeH STEITFITES oh IceISi hl T i o TAN <hl TR STawer
%1 AR 3@ i |

Draw a labelled diagram of the experimental set up for the study of liberation of
carbon dioxide gas during respiration.

12

C1



